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40. a,b 7Y F] Aold, oA f(x) = 1t +axd + x2 + bx — 2 ©|t},
f(x) 7 LA x —a & JAFE ZHA| o= B4 o« 9 4 a,b(a > b)
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fA)=14+a+14+b-2=0,a+b=0
f(-1)=1-a+1-b6-2=0,a+b=0
f(2)=16+8a+4+2b-2=0, da+b=-9
f(-2)=16-8a+4-2b-2=0, da+b =9
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41. o] A7 1 AR f(x) o Wste] f(1) = 1, f(2) =
2, f(3) = 30] AT ol W, f(x) & x-4 2 He YA E?
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f)=1,£2)=2,f3)=3°A f(x) =x

Z f)-xEx-1,x-2,x-3 & A2 3},
fx)—x=(x-1)(x-2)(x-3)

)= (-1 (x-2)(x-3)+x, f(4) =10

x3 +ax? 4+ bx +c 2 o

)=1=a+b+c+1=1

(2)=2=4a+2b+c+8=2

(3)=3=9+3b+c+2n=3

o] Aale ARt 29,
=-6,b=12,c = —6

= f(x) = x> -6x>+12x-6

L f(4) =43 —6x42+12x4-6=10
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St F5AY w, 2 - bd ©] 27
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)x=4=a+b+c+d+1=16
W)x=4=16a-8 +4c—-2d+1=1
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V)x=5=>16a+8b+4c—-2d+1=1
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